3. Write short notes on :

(@)
(b)

()
(@)

(e)

(any three)
5x3=15

Relationship of Demography and

Anthropology

Problem caused by over population in

India

Population pyramid

Impact of reproductive health polices

on fertility

Population census

4. Answer any three of the following

questions :

(@)

(b)

(c) Discuss in detail the theory of
Demorgraphic transition.

(d) What is Theoretical Maximum Fertility ?
Discuss the different physiological and
socio-cultural factors affecting
Theoretical Maximum Fertility.

(e) Discuss how a National Health policy
can reduce health inequities in India.

(f) Write an essay on anthropological
determinance of population growth.
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(h) How many stages of population growth

10%x3=10
What is Demography 2 Discuss the
importance of demographic analysis
and interpretation in Anthropological
study.

What is Infant mortality ? How is it
calculated ? Briefly discuss the
Endogenous and Exogenous factors
responsible for Infant mortality.

are involved in the demographic

transition model ?

()

2,

i) 3
(i) 4
(iv) S

() Which of the following is not a s

components of population growth or ¢
changes ?

()

Fertility

(i) Mortality
(i) Migration
(iv) Sex ratio
(d) Fecundity means—

()

Capacity to conceive or bear
children

(i) Number of live births per 1000

(iii)
(i)

(e

a

()

inhabitants in a year
Number of total aged person
Number of deaths per year
/is migration that occurs within
country’s territorial borders.
Emigration

(i) International migration

(iii)
(iv)
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Internal migration
Voluntary migration

2
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Choose the correct answer :

1x7=7

(a) Which of the following theorist given
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1j}

contribution to the development of
population studies ?

(i) Bruno Latour
(i) Franz Boas

(ii) Marshall Sahlins
(iv) AJ.(')hn Graunt

Contd.

Expansion of NRHM—

(i) National Reproductive Health
Mission

(i) National R;eport of High Mortality

(i) National Rural Heath Mission
(iv) Natural Resources and Heath
Management
&) The number of males per 100 females
> 5 or the number of females per 100 males
g 5‘ can be used to express a population’s—
¥ g (i  Fertility
g Q‘f (i) Maternal mortality rate
G é (iii) Sex ratio
i 5‘ (iv) Mortality
5 om
& @ Answer the following questions in brief :
<) 2x4=8
© (a) Mention two factors affecting infant
mortality.
(b) Differentiate between mortality and
morbidity.
() What is Reproductive span ?
() What is the difference between
immigration and emigration ?
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